
459



460

Pump

Gear Pump



461

SWG1



462

Single Pump



463

SWG2



464

Single 
Pump



465

SWG3



466

SWG. Series Gear Pump

SINGLE PUMPS



467

1+1 D-S 39 4 SCREWS TE M 6 30

36 4 NUTS M6

25 1 O-RING 46 2

12 1 COUPLING 1+1

15 1 PIN 3 10



468

Double 
Pump

2+2 D-S 35 4 SCREWS TE M 6 35

36 4 NUTS M6

25 1 O-RING 46 2

9 1 COUPLING 2+2

15 1 PIN 3 10

2+1 D-S 20 4 SCREWS TE M 6 18

25 1 O-RING 46 2

10 1 COUPLING 2+1

15 1 PIN 3 10




